[bookmark: _GoBack]#delimit; 
clear; 
cd "D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\manuscript\";
set more off;
use paper1_analysis.dta;  
set matsize 500;
drop logit*;
drop *selectf pr1a_w4 pr1a_w2w4;

log using "D:\ahd\researchers\whitneyr\Parity_obesity\output\SPER_2013", replace;

****************************************************************************
*
*  INPUT:                                                                  *
*  D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\manuscript\        *
*        analysis_data_cpc.dta                                             *
*                                                                          *
* OUTPUT:                                                                  *
*                                                                          *
*     D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\workshop\     *
*        paper1_analysis_prev.dta                                               *              										   *
*     D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\workshop\     *
*        paper1_analysis_inc.dta                                           *                                                                          *
****************************************************************************;


*--------------------------------------------------------------------------* 
| Model 1A  Demographic: vars w/ good response rates.                       |
|       With Interaction Terms among Demographic Variables.                |
*--------------------------------------------------------------------------*; 
******************
*** w4_selectf ***
*****************;
gen w4_selectf=0;
	replace w4_selectf=1 if wt_cross_w4~=. & sex==1 
		& currentpreg_w4 ~=1 & last6month ~=1
		& ob_constr_w4 !=.  /*outcome not specified*/
		& parous ~=. /*exposure not specified*/;
  
la var w4_selectf "non-pregnant/6 mo. females, w4";


******************
***   pr1a_w4  ***
*****************;

qui logistic parous age_yr_w4 ageyrsq_w4 
                usborn 
                region1 region2 region4
                rural suburb
                ruralxreg1 ruralxreg2 ruralxreg4 
                suburxbreg1 suburxbreg2 suburxbreg4
                highedcat1 highedcat2 highedcat3 highedcat4 highedcat6 
                black nonbwrace
                blackxhighed1 blackxhighed2 blackxhighed3 blackxhighed4 			    blackxhighed6
                gennonblwh genblack
                mexam cuban puertorican centrsoutham otherhisp hispmix
                genmexam gencuban genpuertorican gencentrsoutham genotherhisp 
                chinese filipino japan asiaindn korean vietnam asianoth 				asianmix
                i.scid_n
                if w4_selectf==1, coef;

****************************
*
* CONSTRUCTING FINAL SAMPLE 
* childhood to w4 
*
***************************;
predict pr1a_w4 if w4_selectf==1;
gen logit1a=log(pr1a_w4/(1-pr1a_w4)); 

cd "D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\workshop\";
save paper1_analysis_prev, replace;

*--------------------------------------------------------------------------* 
| PSM based on Model 1A: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units 			   |                 
| One-to-one, non-replacement.                                             |
*--------------------------------------------------------------------------*; 
drop if pr1a_w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com noreplacement descending;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;

sort _id;
psgraph, p(pr1a_w4) saving (hist_1log_1-1.gph,replace) 
      title("Histogram: Model 1A, caliper .1logit, no replace");

		
/*Common support stats for ATE */
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com noreplacement descending ate;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;


/* GETTING CONFIDENCE INTERVALS*/
/**** TWO THINGS MAKE DIF FOR BOOTSTRAPPED SEs: 1) SET SEED, 2) ATE COMMAND **/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com noreplacement descending;
		
set seed 1000;
bootstrap r(atu), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com noreplacement descending ate;

set seed 1000;
bootstrap r(ate), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com noreplacement descending ate;


*--------------------------------------------------------------------------* 
| PSM based on Model 1A: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units                    		   |                 
| Neighbors = 1, with replacement.                                         |
*--------------------------------------------------------------------------*; 
clear;
use paper1_analysis_prev, replace;
drop if pr1a_w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
 		com;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;

sort _id;
psgraph, p(pr1a_w4) saving (hist_1log_r_1-1.gph, replace) 
      title("Histogram: Model 1A, caliper .1*logit, 1:1 w/ replace");

pstest age_yr_w4 
                region1 region2 region4
                rural suburb
		    highedcat1 highedcat2 highedcat3 highedcat4 highedcat6 
                usborn 
				black nonbwrace
                mexam cuban puertorican centrsoutham otherhisp hispmix
                chinese filipino japan asiaindn korean vietnam asianoth asianmix, 
		both sum;
			
		
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
 	com ate;

*
* NEED CIs for UNMATCHED DIFFERENCES *
*;

/* GETTING CONFIDENCE INTERVALS*/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                  com;

set seed 1000;
bootstrap r(atu), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com ate;
set seed 1000;
bootstrap r(ate), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 com ate;


*--------------------------------------------------------------------------* 
| PSM based on Model 1A: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units                    		   |                 
| Neighbors = 4, with replacement.                                         |
*--------------------------------------------------------------------------*; 
clear;
use paper1_analysis_prev, replace;
drop if pr1a_w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 neighbor(4) com;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;

sort _id;
psgraph, p(pr1a_w4) saving (hist_1log_4-1.gph, replace) 
      title("Histogram: Model 1A, caliper .1*logit, 4:1");

		
psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 neighbor(4) com ate;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;

*
* NEED CIs for UNMATCHED DIFFERENCES *
*;


/* GETTING CONFIDENCE INTERVALS*/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 neighbor(4) com;

set seed 1000;
bootstrap r(atu), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 neighbor(4) com ate;
set seed 1000;
bootstrap r(ate), reps(100): psmatch2 parous, outcome(ob_constr_w4) pscore(logit1a) caliper(.1) 
                 neighbor(4) com ate;



*--------------------------------------------------------------------------* 
| Model 5: w2-w4 incident obesity among w2w4 incident parous 		   | 
|   Demographic: vars w/ god response rates.                               |
|       With Interaction Terms among Demographic Variables.                |
*--------------------------------------------------------------------------*; 
clear;
cd "D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\manuscript\";
use paper1_analysis.dta; 
drop logit*;
drop *selectf pr1a_w4 pr1a_w2w4;

/* CREATE SAMPLE OF NON-PAROUS AND NON-OBESE AT W2 and NON-OBESE AT W3 */
********************
*** w2w4_select4 ***
********************;

gen w2w4_selectf=0;
	replace w2w4_selectf=1 if wt_long_w4_all!=. & sex==1 
		& fullterm_w2==0 & ob_combo_w2==0 /*w2 non-ob and non-parous*/
		/*no var for w2 current, recently preg*/
		& ob_w3==0 & currentpreg_w3~=1 /*w3 non-ob and non-pregnant; make 		var recent-preg*/
		& currentpreg_w4~=1 & last6month ~=1
		& ob_constr_w4 !=.  /*outcome not specified*/
		& fullterm_w3 ~=. /*exposure not specified*/;
	
  
la var w2w4_selectf "incident parity w2-w3 & inc ob w3-w4, females w4";	


logistic fullterm_w3 age_yr_w4 ageyrsq_w4 
                usborn 
                region1 region2 region4
                rural suburb
                ruralxreg1 ruralxreg2 ruralxreg4 
                suburxbreg1 suburxbreg2 suburxbreg4
                highedcat1 highedcat2 highedcat3 highedcat4 highedcat6 
                black nonbwrace
                blackxhighed1 blackxhighed2 blackxhighed3 blackxhighed4 			    blackxhighed6
                gennonblwh genblack
                mexam cuban puertorican centrsoutham otherhisp hispmix
                genmexam gencuban genpuertorican gencentrsoutham genotherhisp 
                chinese filipino japan asiaindn korean vietnam asianoth 				asianmix
                i.scid_n
                if w2w4_selectf==1, coef;

/* Dropping observations from Incident model because variables predict no-ob perfectly*/
/*178 observations dropped*/

****************************
*
* P-score for model 5:
* incident obesity (w3->w4) if incident parity (w2-->w3) 
*
***************************;
predict pr1a_w2w4 if w2w4_selectf==1;
gen logit5=log(pr1a_w2w4/(1-pr1a_w2w4)); 

cd "D:\ahd\researchers\whitneyr\Parity_obesity\savefiles\workshop\";
save paper1_analysis_inc, replace;

*--------------------------------------------------------------------------* 
| PSM based on Model 5: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units 			   |                 
| One-to-one, non-replacement.                                             |
*--------------------------------------------------------------------------*; 

drop if pr1a_w2w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com noreplacement descending;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;


sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_1-1ATT.gph,replace) 
      title("Incident ob, ATT: caliper .1logit, no replace");


/*Common support stats for ATE? */
psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com noreplacement descending ate;
/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;



/* GETTING CONFIDENCE INTERVALS*/
/**** TWO THINGS MAKE DIF FOR BOOTSTRAPPED SEs: 1) SET SEED, 2) ATE COMMAND **/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com noreplacement descending;

set seed 1000;
bootstrap r(atu), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com noreplacement descending ate;

set seed 1000;
bootstrap r(ate), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com noreplacement descending ate;

sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_1-1ATE.gph,replace) 
      title("Incident ob, ATE: caliper .1logit, no replace");


*--------------------------------------------------------------------------* 
| PSM based on Model 5: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units 			   |                 
| One-to-one,  with replacement.                                             |
*--------------------------------------------------------------------------*; 
clear;
use paper1_analysis_inc, replace;
drop if pr1a_w2w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com;

/** DESCRIPTIVES OF MATCHED SETS **/
	tab _treated;
	tab _support;
	tab _weight;


sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_r_1-1ATT.gph,replace) 
      title("Incident ob, ATT: caliper .1logit, w/ replace");
	  
pstest age_yr_w4 
                usborn 
                region1 region2 region4
                rural suburb
		    highedcat1 highedcat2 highedcat3 highedcat4 highedcat6 
                black nonbwrace
                mexam cuban puertorican centrsoutham otherhisp hispmix
                chinese filipino japan asiaindn korean vietnam asianoth asianmix, 
		both sum;
	  
	  
/*Common support stats for ATE? */
psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com ate;
/** DOES THIS GIVE EXTRA EFFORT? **/
	tab _treated;
	tab _support;


/* GETTING CONFIDENCE INTERVALS*/
/**** TWO THINGS MAKE DIF FOR BOOTSTRAPPED SEs: 1) SET SEED, 2) ATE COMMAND **/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com;

set seed 1000;
bootstrap r(atu), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com ate;

set seed 1000;
bootstrap r(ate), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 com ate;

sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_r_1-1ATE.gph,replace) 
      title("Incident ob, ATE: caliper .1logit, w/ replace");


*--------------------------------------------------------------------------* 
| PSM based on Model 5: Demographics -- Good response rates.              |
| Nearest neighbor in caliper .1 logit units                    		   |                 
| Neighbors = 4, with replacement.                                         |
*--------------------------------------------------------------------------*; 
clear;
use paper1_analysis_inc, replace;
drop if pr1a_w2w4==.;

set seed 1000;
generate x=uniform();
sort x;
/* Getting support stats for ATT */
psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 neighbor(4) com;
sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_4-1ATT.gph, replace) 
      title("Incident ob, ATT: caliper .1*logit, 4:1");

psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 neighbor(4) com ate;

*
* NEED CIs for UNMATCHED DIFFERENCES *
*;


/* GETTING CONFIDENCE INTERVALS*/
set seed 1000;
bootstrap r(att), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 neighbor(4) com;

set seed 1000;
bootstrap r(atu), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 neighbor(4) com ate;
set seed 1000;
bootstrap r(ate), reps(100): psmatch2 fullterm_w3, outcome(ob_constr_w4) pscore(logit5) caliper(.1) 
                 neighbor(4) com ate;

sort _id;
psgraph, p(pr1a_w2w4) saving (hist_5log_4-1ATE.gph, replace) 
      title("Incident ob, ATE: caliper .1*logit, 4:1");


log close;


clear;
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